JANIS BRPERNES—(F2R NH@U#HF?

20054 THA(7T~12H)

gtk

IR/ ABRE(E)

F2BEBER/ ARE(E)

7= 3: % 2 iF F4F [B] 38— PD X 1,000
RABLAE(CRDITE - ELEEER
7= 5: B i 14 - B4 - JE R BIA FE I R R 3K

5% 6.2 %8 B Il % SR
RTIAYTHBLIRRER

RETA/INARAFAE
SR 2L 8
SNREBEH 663

276

mExc>




JANIS BAERANWY—21F2R NI@U}HEH 20054 THA(7~12R)

EAR AR VNS (ES) [ToP] [1] [2] [3] [4] [5] [6] [7] [8]
LA
- 100%
HEERAFE. YERIETEL SR TR
14 r —F R
—— T
12 r -1 B0%
10 r
. -1 G0%
8 |
5 = 40%
il
MR 9
=4 20%
2
>t \
1
o 2.7% I g
[:l 1 I 1 1 1 [:I%
100038 1,000z~ 1 AC0g~ 2 000z~ 2800z~
1,000gk#% | 1,000g~ 1,500g~ | 2,000g~ | 2500g~ =t
ABEE 38 51 75 87 289 540
T 8 1 2 3 5 19
T 21.1% 2.0% 2.7% 3.5% 1.7% 3.5%
HE AR
R NICUIZABELI=EE, AE. ERIRD R EE LR
N NICUIZ ABELT=E &,
P A NICUIZABEL. JETLI=B &,
-E FETEE =+ AFRE x 100(%)

Pesfe>

277



JANIS BAERANWY—21F2R NI@UW?

20054 THA(7T~12R)

RGP BEHY/ ABRE(ER) [ToP] [1] [2] [3] [4] [5] [6] [7] [8]
LA
a0 HEf R (R, vER RS EE YR R EREE 100k
1 R EE B B
o —— EHMERESE
-1 B0%
20 r
17 1 60%
19 r
13
1 40%
10T b7y 9
‘“‘m
i \1 5 59 , 4 20m
a3.2% 1%
[~} 26%) L =
[:l 1 1 1 1 [:I%
1,000g$‘5ﬁ5 1,000z~ 1,800z~ 2,000z~ 2500g™~
1,000g3k# | 1,000g~ | 1,500g~ | 2,000g~ | 2,500g~ A&t
ABE# 47 58 104 115 333 657
RRE R E 13 9 4 3 17 46
R FEE 27.7% 15.5% 3.9% 2.6% 5.1% 7.0%
15H AR
&R NICUIZABELT=8EF , AE D FEAGZEE LR
ABEEH NICUIZ ABRLT=E &,
R BE R E RIS h B E R,
R R R i BB E B A2 X 100(%)

@I

278



JANIS BAERANWY—21F2R NI@UW?

3= 3: % iF FEE [B1 37+ PD x 1,000

20054 THA(7T~12R)

HEY
a0 a0
AEER A FE. vER RS LR Y e R ERESE
COEREREDE
—— BERESE
25 F - 25
20 -1 20
17
19 1 -1 158
11 11
10 F 4 10
o]
5 F 4 48
3.8:5? S.E‘BD b 099
%\1 o 2027 Lo
[:I 1 1 1 1 [:I
100075 1.000g~ 1500g~ o 000 g™~ o B0~
XPD: ABeB#AET
1,000gk i | 1,000g~ 1,500g~ 2,000g~ 2,500g~ &%
PD 3,008 3,030 3,552 2,960 5,485 18,035
1% 20 S0 [B] 350 11 11 4 6 17 49
TR S FEE R 3.657 3.630 1.126 2027 3.099 2.717
EH AR
poE-3 NICUIZARzEL. BFEL1-EE , AED B EE (XRS
PD AlEB.BREBEFNFNIBELEORARBE,
R FEAE [ 38 R E SR B ST SEBI 3R
1% S iE FEAE FE 1% 0 69 [ 38+ PD % 1,000

@y

279



JANIS BAERANWY—21F2R NI@U}HEH 20054 THA(7~12R)

AR (C DT - BREERER [ToP] [1] [2] [3] [4] [5] [6] [7] [8]
A
a0 HEf AT E, vER EEERE T S Eh IR T 100k
o B4 L =
o —— EHMEI T
-1 B0%
20 r
-1 G0%
19 r
1 40%
10 300%
1 20%
5 |
0 : ¥ * 0%
) 0.0% 00%
1,Dﬂﬂgﬁﬁ5 1,000z~ 1,800z~ 2,000z~ 2500g™~
1,000g5k3% | 1,000g~ | 1500g~ | 2,000g~ | 2,500g~ A&t
R BE A 10 7 4 3 16 40
B ESE TR 3 0 1 0 1 5
RRAEFE TR 30.0% 0.0% 25.0% 0.0% 6.3% 12.5%
EH AR
poE-3 NICUIZARRLI=E&E ., AE. ERIRORALEE TRL,

R BE R RPIEEZHSNT-EEH,
R ER TR REPAELZEh  RENRR TR LI -EE .
R FEFE TR R REFE T4+ B2 R E 4 X 100(%)

Pesfe>

280



JANIS BRPERNES—(F2R NH@U#HF?

20054 THA(7T~12H)

RO - R - FE R B R B R

HER A E. VIR EREE
DE- OEEE OffEs oz

100%
ao%
20%
JO% F 4
BO% a5
o | 10 11 a1
40% F
S0% F 6
20%
7 4
10% 5 1 . 5
1 1 3 1 6 1 4
O \ 0 0 3
1000gm  1.000gll b 1500glkl b 2poogkl B 25008l E
1,000g3k# | 1,000g~ | 1,500g~ | 2,000g~ | 2,500g~ A&t
IRk 34 49 100 112 316 611
it = 6 4 1 0 5 16
BREE 7 5 3 6 4 25
EA<BH 4 2 0 0 8 14
1EH AR
PE NICUIZARRLI-EE . AEDFALEE LR,
ek REPELBHSNTUORNEER,
[hREdE] R MELZISh , A EAMIEE SIS =fEF 3K,
EME RS IEN . BEEARMEE LHIM S - EFIEK,
B RS Eh B REEABELMCTELLVESIE,
XEHNRETELZVEDITIERBHET S

MR E I E R

281

BTy




JANIS BAERANWY—21F2R NH@U}?&F? 20054 THA(7~12R)

36:7#2 2 B Bl B AE B [TOP] [1] [2] [3] [4] [5] [6] [7] [8]
*HEE
30 B FE. VST REEREE
| 8% MiE i
OFRiE W=D DR
29 r B [ 5 B MES
= g -
BEEREE OF0if
20 r
19 r
10 r
5 |
i N
1 000g3EiE 1.000g™ 1 500g™ o 000g™~ 2 B00g™
2HEE 1,000gkiE | 1,000g~ 1,500g~ 2,000g~ 2,500g~ &5
B I iE 6 3 0 2 2 13
i 2¢ 4 3 1 1 4 13
BERE /A= 2 0 0 0 0 1 1
R B R 2 0 0 0 2 0 2
I 357 e 1 0 0 0 0 1
NEC 0 0 0 0 0 0
e % 1 0 0 1 0 2
Hhoos 2 0 0 0 0 2
A Thd 0 2 2 0 3 7
ZDith 3 3 1 0 7 14
&t 17 11 4 6 17 55

MRSA

282



HER R FE. YIRS RRERESE
14T B B MfE O Bz
Of 8 = ORI
B [ 5 EMEC
12 r B AR B
BEEREE OF0hif
10
8 -
e -
4 |
2 -
N B |
1000gKi  1,000g~ 1,300g 2,000g™~ 2,500g™
MRSA 1,000g3k# | 1,000g~ | 1,500g~ | 2,000g~ | 2,500g~ A&t
B I fiE 1 1 0 0 1 3
fifi % 0 1 0 0 0 1
BhRE /AN 2% 0 0 0 0 0 0
PR R % 0 0 0 0 0 0
BT 1 0 0 0 0 1
NEC 0 0 0 0 0 0
B 0 0 0 0 0 0
HhoTs 0 0 0 0 0 0
R S R 0 2 1 0 2 5
ZDith 2 0 0 0 0 2
&t 4 4 1 0 3 12

MSSA

283




KBl R, v SRR ERGE
14 r | 8t [E O B
O SR8 fi=5s W FRiems
B i BENEC
12 1 B BB mhL VA
BEELRE OTOh

10 r

1 000g3F% 1000g™~ 1 500g™~ 2 000g™ 2 B00g ™~

MSSA 1,000g&% | 1,000g~ | 1,500g~ | 2,000g~ | 2500g~ it
B I i
fifi 2%
BERE /B = 2
PR 8 %
MRk
NEC
B 2%
Hhoos
R 1S R
ZDfth

&t

el Bl A=l K=l K=l K=l E=1R=2 K K

N OO OO0 O0o/0cjo o= —
OO OO0 O OCIlOININ
[l el Bl K=l K=l K=l K=l K=l K=l k=]
[=lk=li=lk=lk=]lk=lk=]lK=lKk=l1 k=1 k=]
el k=l k=l K=l E=lE=l K=l K=l K=l K=]1

—_
o

CEN:

284




KBl R, v SRR ERGE
14 r | 8t [E O B
O SR8 fi=5s W FRiems
B i BENEC
12 1 B BB mhL VA
BEELRE OTOh

10 r

L | | |

1 000g3F% 1000g™~ 1 500g™~ 2 000g™ 2 B00g ™~

B A<BA 1,000gki% | 1,000g~ | 1,500g~ | 2,000g~ | 2,500g~ At
B I i 1 0 0 0 0 1
i ¢ 2 0 0 0 2 4
BARE /b ZE 2¢ 0 0 0 0 1 1
PR % % 2 0 0 0 0 0 0
I R 0 0 0 0 0 0
NEC 0 0 0 0 0 0
& % 0 0 0 0 0 0
hoos 0 0 0 0 0 0
RS R AE 0 0 0 0 0 0
ZDfth 1 2 0 0 5 8
a&t 4 2 0 0 8 14

I5H NE

R NICUIZARELI-EBE . REDFALGEZ LR

BREAK BIERDZE SN ERBEHSNROB LB SN EHIE

P@xdT>

285





